SENEY T RR Y

a2
- o~ A PEE
s PR
e~ 4R LE R
N %f‘lﬂh
= o~ b %p_‘%l]

It

(%]

FREFE D E2ERCR FiER
LEEEATE SRR AT 2R R

e 2 o TUREE > RARAL 0 AR g HAe o

EREFTERAAE
=?ﬁ$%#%?ﬁ%éﬂﬁﬁo

i@b%%mi’bﬁﬁ SAv o [RAR 27 ]

FRaET A (THME R D3

LB CHEA TR A T () [ emtra]

2L EH 18K (F) 262K T H [H kBt F 4]
EFlerEBO2MAY (7)) % [FHF i)

S~
=
=
e
peic
)
bl
\ o
=
=
ot
(ﬂ}
>~
5_
peics
bl
-—
J
~

(@p)
|=
o=
ANy
s
Ry
e
N
Pt
ih
%

T 4540 gndp T e 2 PLE R o

Ps. 7 %4 epry Bj;;}ig_f;g_% »:-;%;‘;%’*?? R R £ S i’;"“ﬁ,ﬂ?‘i?“‘\ ,%?g‘s%c 0

- S FR

N

1~ EP

1.2 %2 :103&# 1% 31p >+ =11:00475 -(18:30 4 %)
2572 103# 17 31p > T=13:00483] - (18 : 30 A% )
S.hEHBe 103 &2 1p - F=11:004R3] - (1830 &%)

4.7 %40 103227 1p > b= 09: 00485 - (18130 %)
5.7 AL 1103 & 27 1 p > = 14: 00485 o (1830 &)

6§ t103&27 20 » 1% 11: 0047 % - (18 30 iF)
7.&%#£€i‘#;§1 T e 03&12 31 pT=14:0037] o[- 7 42%]
DR S RS DEL 3R F REE T (EF @5 BRI L)

T3 1 05-6932033 #ZE :05-6930138 (~ % BF)
pl102# 12 % 27p4=23 103 &1 7% 25 p 2k o

LU %JI'E}?}, #-d =< ;h;b %\Q/.’L L.—’ N Y #?ﬂﬁg - “%‘i’&- °



Lo ESEE L - B AR LR [Fp % DVDVCD 28]
AR AAFEREY 2 FEAF (VR SE Y ) o
282 Mg L oA FBpEY - B AFE- Fp oo
JINF e & TG A F A FLFE- F e
4. 450 8 T o - F A% o
D. A7 Fr & gk P~ 20 L BlAF -
[ &% %dc A Bcdeod 840 &0 54210 2]
6. v FAREZ 101 £ ~ 102 & & et g = L4 0 3 F St F oo

. VAR LB AL gcdp 2 o
TelerMie 520103220 3pat » 8L g i - Fa8d 54
RREL AL S R der TR Lo RBAEE O RERE o
(B % 41 2)
Lo B AR A EAERE 20 Lk o e 2 g R T 2 B L
[iF & P =0~ o™ ]
FE ] ¢ ok Ed e At £ 6000 ~
TE] L kS AEE L Bt E 5000 ~
FHE ] ¢ kAL £ 3000 ~
BE D okdepEd e Rt 2000 ~
B2 010 & kKR L Rt 1000 &
HEE 6L khEEe &
(Frac e B 3 iksk » f2 £ 2000 ~ /%)
CEEF LD FIRFREFZEERER LRI FREF AL OO0  BREITAL o
(3B REMMHELLF)
2.5 ¢ 40% > H£7740% ~ 5B 10% ~ 2 3] 10%

*mkf

\

Jui

SR AR R T P L Bdep AR a2 A FAR 3.EE A
ip T4 T ey http//goo.glle7sb8w R EdR LA nt © http://goo.gl/dipSCk

~ 3F

L REBAt AEET o WL

I

A S s L

=

3

&
I

fu

7

M
N
=

i

|

=

i)

e

>

o

o



BEGLE EF#si=E RALIUGHE 2014 &

=
FEFE T+ _E]

H
IBEEE BT
_ # A B .
2 4 H(FaJ1) Bl 75 EE {11
£ H H
4 Bl 0> o= 42 Pt EE = O 8448 [ BTheesd
0= 0% SBAR Oxes 0O akEsE
(BME ) O Es#E [ agdes
{1t
(] tEiATIs e 4
IE=E I8 : SR I B8

SIS EHA - NHIRE (FME - HttARI%IE)
OO0 #EEHER [0 =@8dk [0 E55E

PsziEPkERESNABRBIBASIEEER - Hth4ER %A - AERZAU  http://goo.gl/dipSCk

wERBEESE (05)6930138



